2A:
X ZH .
(= I

&l

O PEA M
WS BATA X
2:

SH - FHH . (SH) - MRAY - BES Ofl & o4 pJE-1 HR=z2
S R R R 5,811,769 4,374,065 1,437,704
= 68,926 41,926 27,000
| 1,708 1,708 0
< 30,909 17,409 13,500
Al 5,710,226 4,313,022 1,397,204
WEE B EEA M 106,947 102,447 4,500
= 1,800 1,800 0
= 450 450 0
Al 104,697 100,197 4,500
A0 CHEE &lErZojal Jid 27,246 22,746 4,500
TIEtd MEjLA 29 27,246 22,746 4,500
201 LEr23H| 22,230 17,730 4,500
01 AFR2|Y| 22,230 17,730 4,500
ONEA SMT H2
150, 0002 +302 4,500 0 4,500
HOIZ22 =23t 33 577,224 577,224 0
= 27,000 0 27,000
= 13,500 0 13,500
Al 536,724 577,224 A40,500
EYHEI| ZAE S8 WRE =HEE 24 575,424 575,424 0
= 27,000 0 27,000
= 13,500 0 13,500
Al 534,924 575,424 240,500
RBE B 565,404 565,404 0
= 27,000 0 27,000
& 13,500 0 13,500
Al 504,904 565,404 40,500
405 THarE SHI 460,000 460,000 0
2 27,000 0 27,000
= 13,500 0 13,500
Al 419,500 460,000 40,500
01 ML SESH = 460,000 460,000 0
ONZH F2LoHAT 2
230,000,000 *2CH 460,000 460,000 0
= 27,000 0 27,000
= 13,500 0 13,500
Al 419,500 460,000 240,500
HRE CABY FA 2,611,357 1,178,153 1,433,204
= 38,406 38,406 0
= 14,529 14,529 0
Al 2,558,422 1,125,218 1,433,204
SEAIE= 2tel 1,483,744 50,540 1,433,204
Ald e 1,402,880 0 1,402,880
401 AlZHI20HYI 1,402,880 0 1,402,880
01 Al&tl 1,394,000 0 1,394,000
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WRE CABE X4

SEAEE 2l

SN BB S(EA) - MRAY - BES 0] &k o8 p[E-F" HlRE2
OZ3U 02I0I=0lAlE HEISAt
100,000, 000& *4J4 £ 400,000 0 400,000
OZBJANEe 2L AL (LEUSAS2H A, Al
HEXNGEHZ) 994,000, 000& 994,000 0 994,000
03 AIZ=0HbI 8,880 0 8,880
OZ3U 02I0I=0lAlE HEISAt
400,000,000 *0.72% 2,880 0 2,880
OZBJANEe 2L AL (LEUSAS2H A, Al
HEXNGEHZ) 6,000,000 6,000 0 6,000
SO 2tel 80,864 50,540 30,324
401 AlZHI20HYI 80,864 50,540 30,324
01 Al&Hl 80,000 50,000 30,000
O2U0I2g 32 22ts WHSA
30,000, 000& 30,000 0 30,000
03 AlIZ=0HbI 864 540 324
O200I128 23 E2ots WHSAt
30,000,000 =1.08% 324 0 324
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